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* Xx%n —- x—-(x//n*n)
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» 3456 //10//10//10 % 10=3

e niEZLTH[E U

» 234 % 7 =3
» 234 //7 % 7 =5
» 234 //7 /] 7 %7 =4

RERURER

32



H DR M) BERBIRE - FHAR

o LM (HBHWIFHT) BOEDIFVE5A1E, b o BDMEDV A GEDRIRDEIEGIEIX., BRETRER
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o i :
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» 8%-5 = -8//-5=1,-8 -(1*-5)*1=-8+5=-3
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https://stackoverflow.com/questions/3883004/the-modulo-
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o formatP% % i > CTHUE 2 XXFINT W T 5
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o MEIFHIZHEOEDLDICHWVLENS
y FLELDMEL QOMIE. 10DME) &EHE-1DOME (1 DR, 9D#IE) ZFIHFE
» FEELDME = FHB-1DO™IE + 1

» %1 : 10000 — 5678 = ?
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» 15678 — 9876 = 5678 + 10000 — 9876 = 5678 + 9999 — 9876 + 1 = 5678 + 123 + 1 = 5802
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and as assert async await break class continue
def del elif else except finally for from
global if is import in lambda nonlocal not

o1 pass raise return try yield while with
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a*0
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a**-N

a ** (M+N)
a ** (M-N)
a ** (1/N)

a ** ( M/N)
a** (M * N)
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* (x1+yy) t(x2+yy) =(x1+x2)+(y1+y2)
* (x1tyy) —(x2tyy) =(x1—=X2)+(y1—y2)]
* (x1tyy) * (X2 +y2)

= (x1"x2=y1¥y2)+(x2*y1+x1*y2)j

X, TV J _ XX, TV, n

: 2 2 2 2
X,TY,] X, T X, X, T X,

Ar Vi — X1 ), i

) Zn * Zm — Zn+m
P (Zn)m = N

® (z*w)r=zn* wn
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BEREEZEROBREIZ. /7LD ERADEDHAGOLEIZ S

o _ i(a+f)
o rel ZW=rse

= seP 2w} =[]
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Z _ I i
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Z
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HEBDONEZHE (EE) DX

o HEKDEHIZOWT, A4 7—DAAZEWHZ

\

il

e’ =cos@+ jsin@

o nEEELT, OVFEHD L ZIZT, F - 7 7IIVDEM(De Moivre’s Law) 23k D 37D

(eJ'@ )n — (0039+jsin9)n = cosnB + jsinnb

-

o M N TIRADAEDZICIHEET 3 L) Z 2R
o MRDBEREEDLGEIZIX, /LD DT, mOIENPEE I, nDIKZE L
Ao, FHEDLSDERIRDOIBICR 3 (7 LoRL2mnd & X)
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EEHORNEEZ2 70y b LTAH

o NZIEDLH., EH WP T LIEFIIREL L LDT, ;

o 70T L :

from matplotlib import pyplot

value = (1+1j)*(1/2**0.5)*1.02

rlist,

imlist =[], []

for n in range( 400 ):

P

=1+0.2%"n

rlist.append( (value*p).real )

imlist.append( (value*p).imag )

print( value**p )

pPyp.

pyplot.show()

ot.plot( rlist, imlist )
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